

Z. U. Ahmad Mursaleen; Q. A. Khan

Generalized almost convergence and Knopp's core theorem

Mathematica Slovaca, Vol. 46 (1996), No. 2-3, 245--253

Persistent URL: <http://dml.cz/dmlcz/136672>

Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1996

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

*Dedicated to Professor Tibor Šalát
on the occasion of his 70th birthday*

GENERALIZED ALMOST CONVERGENCE AND KNOPP'S CORE THEOREM

Z. U. AHMAD-MURSALEEN — Q. A. KHAN

(Communicated by Lubica Holá)

ABSTRACT. In [J. Math. Anal. Appl. **132** (1988), 226–233], Choudhary has extended the well-known Knopp's core theorem. The purpose of this paper is to generalize the results due to Choudhary by using the concept of $F_{\mathcal{A}}$ -convergence [Math. Japon. **18** (1973), 53–70].

1. Introduction

We list the following functionals defined on m , the space of bounded real sequences $x = (x_k)$

$$\begin{aligned} \ell(x) &= \liminf_k x_k, & L(x) &= \limsup_k x_k, \\ q(x) &= \liminf_k |x_k|, & Q(x) &= \limsup_k |x_k|, \\ \|x\| &= \sup |x_k|, & \omega(x) &= \inf \{L(x+z) : z \in bs\}, \end{aligned}$$

where bs denotes the space of all bounded sequences $x = (x_k)$ such that

AMS Subject Classification (1991): Primary 40C05, 40J05, 46A45.

Key words: core theorem, sublinear functional, $F_{\mathcal{A}}$ -convergence, infinite matrix.

$\sup_n \left| \sum_{k=0}^n x_k \right| < +\infty$. Further

$$\begin{aligned} \ell^*(x) &= \liminf_n \sup_i \frac{1}{n+1} \sum_{r=i}^{i+n} x_r, \\ L^*(x) &= \limsup_n \sup_i \frac{1}{n+1} \sum_{r=i}^{i+n} x_r, \\ w^*(x) &= \inf \{ L^*(x+z) : z \in bs \}. \end{aligned}$$

In [3], [4] and [6], we have the following inequalities

$$\begin{aligned} \ell \leq \omega \leq L \leq \|\cdot\|; & \quad \omega \leq Q \leq \|\cdot\|; \\ L \leq Q; & \quad \ell \leq q \leq Q; \\ \ell \leq \ell^* \leq L^* \leq L; & \quad w^* \leq L^*. \end{aligned}$$

Before giving some other functionals, we recall the following definition of $F_{\mathcal{B}}$ -convergence ([7]).

Let $\mathcal{B} = (B_i)$ be a sequence of infinite matrices with $B_i = (b_{nk}(i))$. A sequence $x = (x_k) \in m$ is said to be $F_{\mathcal{B}}$ -convergent to the value $\text{Lim } \mathcal{B}x$ if

$$\lim_n (B_i x)_n = \lim_n \sum_k b_{nk}(i) x_k = \text{Lim } \mathcal{B}x,$$

uniformly for $i = 0, 1, 2, \dots$. By $F_{\mathcal{B}}$, we mean the space of all $F_{\mathcal{B}}$ -convergent sequences, and $\text{Lim } \mathcal{B}x$ denotes the generalized limit. The space $F_{\mathcal{B}}$ depends on the fixed chosen sequence $\mathcal{B} = (B_i)$ of matrices. In case $\mathcal{B} = \mathcal{B}_0 = (I)$, the unit matrix, $F_{\mathcal{B}} = c$. For $\mathcal{B} = \mathcal{B}_1 = (B_i^{(1)})$, $F_{\mathcal{B}} = f$, the space of almost convergent sequences ([5]); where $B_i^{(1)} = (b_{nk}^{(1)}(i))$ and

$$b_{nk}^{(1)}(i) = \begin{cases} \frac{1}{n+1}, & i \leq k \leq i+n, \\ 0, & \text{otherwise.} \end{cases}$$

We further give some new functionals defined in [6] for $\mathcal{B} = (B_i)$ with

$$\|\mathcal{B}\| = \sup_{n,i} \sum_k |b_{nk}(i)|,$$

$$Q_{\mathcal{B}}(x) = \limsup_n \sup_i \sum_k b_{nk}(i) x_k,$$

and

$$q_{\mathcal{B}}(x) = \liminf_n \sup_i \sum_k b_{nk}(i) x_k,$$

obviously,

$$q_{\mathcal{B}} \leq Q_{\mathcal{B}} \leq \|\mathcal{B}\|. \tag{1.1}$$

If $Q_{\mathcal{B}}(x) = q_{\mathcal{B}}(x)$, we say that $\lim_n \sum_k b_{nk}(i)x_k$ exists uniformly in i . For an infinite matrix $A = (a_{nk})$, we write

$$Q_{\mathcal{B}}(Ax) = \lim_n \sup_i \sup_{\ell} \sum_{\ell} b_{n\ell}(i) \sum_k a_{\ell k} x_k,$$

$$q_{\mathcal{B}}(Ax) = \lim_n \inf_i \sup_{\ell} \sum_{\ell} b_{n\ell}(i) \sum_k a_{\ell k} x_k.$$

The object of this paper is to generalize Theorem 1 and 2 due to Choudhary [1].

Let X and Y be any two sequence spaces, and $A = (a_{nk})$ be an infinite matrix. We write $Ax = (A_n(x))$, where $A_n(x) = \sum_k a_{nk}x_k$, provided the series converges for each n . If $x = (x_k) \in X$ implies $Ax \in Y$, we say that A defines a matrix transformation from X into Y , and we denote it by $A \in (X, Y)$; and (X, Y) denotes the class of all such matrices. $A \in (X, Y)_{\text{reg}}$, we mean $A \in (X, Y)$ and $\lim x = \lim Ax$.

In order to prove our results, we need the following lemmas.

2. Lemmas

LEMMA 2.1. ([7]) *Let $\mathcal{B} = (B_i)$ be a sequence of infinite matrices with*

$$\sup_n \sum_k |b_{nk}(i)| < \infty \quad \text{for each } i.$$

Then $A \in (c, F_{\mathcal{B}})_{\text{reg}}$ if and only if

- (i) $\|A\| < \infty$,
- (ii) for $r \geq 0$

$$\sup_{\substack{0 \leq i < \infty \\ r \leq n < \infty}} \sum_k \left| \sum_{\ell} b_{n\ell}(i) a_{\ell k} \right| < \infty,$$

- (iii) $\lim_n \sum_{\ell} b_{n\ell}(i) a_{\ell k} = 0$ uniformly in i for each k ,
- (iv) $\lim_n \sum_{\ell} b_{n\ell}(i) \sum_k a_{\ell k} = 1$ uniformly in i .

For $A \in (c, \bar{F}_{\mathcal{B}})_{\text{reg}}$

$$\text{Lim } \mathcal{B}(Ax) = \lim x, \quad x \in c.$$

LEMMA 2.2. ([7]) *Let $\mathcal{B} = (B_i)$ with $\|\mathcal{B}\| < \infty$. Then $A \in (f, F_{\mathcal{B}})_{\text{reg}}$ if and only if*

- (i) *Conditions (i), (iii) and (iv) of Lemma 2.1 hold, and*
- (ii) $\lim_n \sum_k \left| \sum_{\ell} b_{n\ell}(i)(a_{\ell k} - a_{\ell, k+1}) \right| = 0$ *uniformly in i .*

For $A \in (f, F_{\mathcal{B}})_{\text{reg}}$

$$\text{Lim } \mathcal{B}(Ax) = f - \lim x, \quad x \in f.$$

3. Main results

THEOREM 3.1. *Let $\mathcal{B} = (B_i)$ be a sequence of infinite matrices with $\|\mathcal{B}\| < \infty$. Let $A = (a_{nk})$ be a normal regular matrix with $A^{-1} = (a_{nk}^{-1})$ its reciprocal. Let*

$$\sum_{k=0}^{J+1} \left| \sum_{\ell=J+1}^{\infty} b_{n\ell}(i)a_{\ell k}^{-1} \right| \rightarrow 0 \quad \text{as } J \rightarrow \infty, \tag{3.1.1}$$

uniformly in i , for any fixed n .

Then

$$Q_{\mathcal{B}}(x) \leq L(Ax) \tag{3.1.2}$$

if and only if

$$A^{-1} \in (c, F_{\mathcal{B}})_{\text{reg}}, \tag{3.1.3}$$

$$\limsup_n \sup_i \sum_{\ell} \left| b_{n\ell}(i) \sum_k a_{\ell k}^{-1} \right| = 1. \tag{3.1.4}$$

Proof.

Necessity. Let $x \in c$. Then

$$\ell(x) = L(x) = \lim x. \tag{3.1.5}$$

It is obvious that

$$\ell(x) \leq q_{\mathcal{B}}(x),$$

since A is regular. Therefore $\ell(x) = \ell(Ax)$. Hence

$$\ell(Ax) \leq q_{\mathcal{B}}(x),$$

since A is normal. Therefore

$$\ell(x) \leq q_{\mathcal{B}}(A^{-1}x).$$

Now, by (1.1), (3.1.2), and (3.1.5), we have

$$\lim x = \ell(x) \leq q_{\mathcal{B}}(A^{-1}x) \leq Q_{\mathcal{B}}(A^{-1}x) \leq L(x) = \lim x,$$

that is,

$$q_{\mathcal{B}}(A^{-1}x) = Q_{\mathcal{B}}(A^{-1}x) = \lim x.$$

Therefore

$$\text{Lim } \mathcal{B}(A^{-1}x) = \lim x \quad \text{for all } x \in c.$$

Hence (3.1.3) holds.

Now, by [2; Lemma 2], there exists $y \in m$ such that $\|y\| \leq 1$ and

$$Q_{\mathcal{B}}(A^{-1}y) = \limsup_n \sup_i \sum_{\ell} \left| b_{n\ell}(i) \sum_k a_{\ell k}^{-1} \right|. \quad (3.1.6)$$

Hence

$$\begin{aligned} 1 = q_{\mathcal{B}}(A^{-1}e) &\leq \liminf_n \sup_i \sum_{\ell} \left| b_{n\ell}(i) \sum_k a_{\ell k}^{-1} \right| \\ &\leq \limsup_n \sup_i \sum_{\ell} \left| b_{n\ell}(i) \sum_k a_{\ell k}^{-1} \right| \\ &= Q_{\mathcal{B}}(A^{-1}y) \quad (\text{by (3.1.6)}) \\ &\leq L(y) \leq \|y\| \leq 1, \end{aligned}$$

which proves the necessity of (3.1.4).

Sufficiency. We define for any real λ

$$\lambda^+ = \max(\lambda, 0) \quad \text{and} \quad \lambda^- = \max(-\lambda, 0),$$

then

$$|\lambda| = \lambda^+ + \lambda^- \quad \text{and} \quad \lambda = \lambda^+ - \lambda^-.$$

Therefore, for any positive integer k_0

$$\begin{aligned} &\sum_{\ell} b_{n\ell}(i) \sum_k a_{\ell k}^{-1} y_k \\ &= \sum_{\ell} b_{n\ell}(i) \sum_{k < k_0} a_{\ell k}^{-1} y_k + \sum_{\ell} b_{n\ell}(i) \sum_{k \geq k_0} (a_{\ell k}^{-1})^+ y_k - \sum_{\ell} b_{n\ell}(i) \sum_{k \geq k_0} (a_{\ell k}^{-1})^- y_k \\ &\leq \|y\| \sum_{\ell} b_{n\ell}(i) \sum_{k < k_0} |a_{\ell k}^{-1}| + \left(\sup_{k \geq k_0} y_k \right) \sum_{\ell} b_{n\ell}(i) \sum_{k \geq k_0} |a_{\ell k}^{-1}| \\ &\quad + \|y\| \sum_{\ell} b_{n\ell}(i) \sum_{k \geq k_0} (|a_{\ell k}^{-1}| - a_{\ell k}^{-1}) \\ &\leq \|y\| \sum_1 + \left(\sup_k y_k \right) \sum_2 + \|y\| \sum_3 \end{aligned}$$

By virtue of condition (3.1.1),

$$\sum_1 = \sum_{\ell} b_{n\ell}(i) \sum_{k < k_0} |a_{\ell k}^{-1}| \rightarrow 0 \quad \text{uniformly in } i, \text{ for fixed } n;$$

and condition (3.1.4) gives that

$$\sum_2 = \sup_i \sum_{\ell} b_{n\ell}(i) \sum_{k \geq k_0} |a_{\ell k}^{-1}| \rightarrow 1 \quad \text{as } n \rightarrow \infty.$$

Also, condition (3.1.4) alongwith condition (iv) of Lemma 2.1 gives

$$\sum_3 = \sup_i \sum_{\ell} b_{n\ell}(i) \sum_{k \geq k_0} (|a_{\ell k}^{-1}| - a_{\ell k}^{-1}) \rightarrow 0 \quad \text{as } n \rightarrow \infty.$$

Finally, we have

$$\limsup_n \sup_i \sum_{\ell} b_{n\ell}(i) \sum_k a_{\ell k}^{-1} y_k \leq \limsup_k y_k,$$

that is,

$$Q_{\mathcal{B}}(A^{-1}y) \leq L(y).$$

Since A is normal, we have

$$Q_{\mathcal{B}}(x) \leq L(Ax),$$

where $x = A^{-1}y = \left(\sum_k a_{\ell k}^{-1} x_k \right)$.

This completes the proof of the theorem. □

THEOREM 3.2. *Let A and \mathcal{B} be matrices as in Theorem 3.1. Let (3.1.1) hold. Then*

$$Q_{\mathcal{B}}(x) \leq L^*(Ax) \tag{3.2.1}$$

if and only if

$$A^{-1} \in (f, F_{\mathcal{B}})_{\text{reg}} \tag{3.2.2}$$

and (3.1.4) hold.

P r o o f .

Necessity. Let $x \in f$. Then

$$\ell^*(x) = L^*(x) = f - \lim x.$$

By (3.2.1), we have

$$\ell^*(x) \leq q_{\mathcal{B}}(A^{-1}x) \leq Q_{\mathcal{B}}(A^{-1}x) \leq L^*(x).$$

Therefore, for all $x \in f$

$$\text{Lim } \mathcal{B}(A^{-1}x) = f - \lim x ,$$

and hence (3.2.2) holds.

Since $(f, F_{\mathcal{B}})_{\text{reg}} \subset (c, F_{\mathcal{B}})_{\text{reg}}$, condition (3.1.4) follows from Theorem 3.1.

Sufficiency. Given $\varepsilon > 0$, we can find a positive integer p such that for $y \in m$ and for all $k \geq 0$

$$\frac{1}{p+1} \sum_{r=k}^{k+p} y_r < L^*(y) + \varepsilon , \tag{3.2.3}$$

holds for fixed p whose choice depends on $y \in m$.

We can proceed as in the proof of Theorem 3 due to O r h a n [6]. It is easy to write that

$$\begin{aligned} \sum_k a_{\ell k}^{-1} y_k &= \sum_k a_{\ell k}^{-1} \frac{1}{p+1} \sum_{r=k}^{k+p} y_r - \sum_{k=p}^{\infty} \left(\frac{a_{\ell k}^{-1} + \dots + a_{\ell, k-p}^{-1}}{p+1} - a_{\ell k}^{-1} \right) y_k \\ &\quad + \sum_{k=0}^{p-1} a_{\ell k}^{-1} y_k + \sum_{k=0}^{p-1} \left(\frac{a_{\ell k}^{-1} + \dots + a_{\ell, k-p+1}^{-1}}{p+1} \right) y_k . \end{aligned}$$

Therefore

$$\sum_{\ell} b_{n\ell}(i) \sum_k a_{\ell k}^{-1} y_k = \sum^1 - \sum^2 + \sum^3 + \sum^4 , \tag{3.2.4}$$

where

$$\begin{aligned} \sum^1 &= \sum_{\ell} b_{n\ell}(i) \sum_k a_{\ell k}^{-1} \frac{1}{p+1} \sum_{r=k}^{k+p} y_r , \\ \sum^2 &= \sum_{\ell} b_{n\ell}(i) \sum_{k=p}^{\infty} \left(\frac{a_{\ell k}^{-1} + \dots + a_{\ell, k-p}^{-1}}{p+1} - a_{\ell k}^{-1} \right) y_k , \\ \sum^3 &= \sum_{\ell} b_{n\ell}(i) \sum_{k=0}^{p-1} a_{\ell k}^{-1} y_k , \\ \sum^4 &= \sum_{\ell} b_{n\ell}(i) \sum_{k=0}^{p-1} \left(\frac{a_{\ell k}^{-1} + \dots + a_{\ell, k-p+1}^{-1}}{p+1} \right) y_k . \end{aligned}$$

Since $A^{-1} \in (f, F_{\mathcal{B}})_{\text{reg}}$, and, by condition (iii) of Lemma 2.1, \sum^3 and \sum^4 tend to zero as $n \rightarrow \infty$. Now

$$\begin{aligned} \left| \sum^2 \right| &\leq \frac{1}{p+1} \left| \sum_{\ell} b_{n\ell}(i) \sum_{k=p}^{\infty} (a_{\ell k}^{-1} + \dots + a_{\ell, k-p}^{-1} - (p+1)a_{\ell k}^{-1}) \right| |y_k| \\ &\leq \frac{\|x\|}{p+1} \left| \sum_{\ell} b_{n\ell}(i) \sum_{r=0}^p \sum_{k=p}^{\infty} (a_{\ell, k-p}^{-1} - a_{\ell k}^{-1}) \right| \\ &\leq \frac{\|x\|}{p+1} \left| \sum_{\ell} b_{n\ell}(i) \sum_{r=0}^p r \sum_{k=0}^{\infty} (a_{\ell k}^{-1} - a_{\ell, k+1}) \right| \\ &\leq \frac{p}{2} \|x\| \sum_k \left| \sum_{\ell} b_{n\ell}(i) (a_{\ell k}^{-1} - a_{\ell, k+1}) \right|. \end{aligned}$$

By virtue of condition (ii) of Lemma 2.2, $|\sum^2| \rightarrow 0$ as $n \rightarrow \infty$. Therefore, we have by (3.2.4)

$$\begin{aligned} Q_{\mathcal{B}}(A^{-1}y) &= \limsup_n \sup_i \sum_{\ell} b_{n\ell}(i) \sum_k a_{\ell k}^{-1} y_k \\ &\leq \limsup_n \sup_i \sum_{\ell} b_{n\ell}(i) \sum_k a_{\ell k}^{-1} \left(\frac{y_k + \dots + y_{k+p}}{p+1} \right) \\ &\leq \limsup_n \sup_i \sum_{\ell} b_{n\ell}(i) \sum_k (a_{\ell k}^{-1})^+ \left(\frac{y_k + \dots + y_{k+p}}{p+1} \right) \\ &\quad - \limsup_n \sup_i \sum_{\ell} b_{n\ell}(i) \sum_k (a_{\ell k}^{-1})^- \left(\frac{y_k + \dots + y_{k+p}}{p+1} \right). \end{aligned}$$

Using condition (3.2.3), we have

$$\begin{aligned} Q_{\mathcal{B}}(A^{-1}y) &\leq (L^*(y) + \varepsilon) \limsup_n \sup_i \sum_{\ell} \left| b_{n\ell}(i) \sum_k a_{\ell k}^{-1} \right| \\ &\quad + \|y\| \limsup_n \sup_i \sum_{\ell} \left| b_{n\ell}(i) \sum_k a_{\ell k}^{-1} \right| \\ &\quad - \|y\| \limsup_n \sup_i \sum_{\ell} b_{n\ell}(i) \sum_k a_{\ell k}^{-1}. \end{aligned}$$

Using conditions (3.1.1), (3.1.4) and condition (iv) of Lemma 2.1, we finally have

$$Q_{\mathcal{B}}(A^{-1}y) \leq L^*(y).$$

Hence

$$Q_{\mathcal{B}}(x) \leq L^*(Ax).$$

This completes the proof of the theorem. □

Acknowledgement

The authors are grateful to the referee for his useful comments.

REFERENCES

- [1] CHOUDHARY, B.: *An extension of Knopp's core theorem*, J. Math. Anal. Appl. **132** (1988), 226–233.
- [2] DAS, G.: *Sublinear functionals and a class of conservative matrices*, Bull. Inst. Math. Acad. Sinica **15** (1987), 89–106.
- [3] DEVI, S. L.: *Banach limits and infinite matrices*, J. London Math. Soc. **12** (1976), 397–401.
- [4] KUTTNER, B.—MADDOX, I. J.: *Inequalities between functionals on bounded sequences*, Indian J. Math. **2** (1983), 1–10.
- [5] LORENTZ, G. G.: *A contribution to the theory of divergent sequences*, Acta Math. **80** (1948), 167–190.
- [6] ORHAN, C.: *Sublinear functionals and Knopp's core theorem*, Internat. J. Math. Math. Sci. **13** (1990), 461–468.
- [7] STIEGLITZ, M.: *Eine Verallgemeinerung des Begriffs Fastkonvergenz*, Math. Japon. **18** (1973), 53–70.

Received May 14, 1993

Revised May 11, 1994

*Department of Mathematics
Faculty of Science
Aligarh Muslim University
Aligarh-202002
INDIA*